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[[=Fiva K 4% SYHE Bl E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 |8 BEIEE [erh uesew |ARRAY #MIINSUHRYLH5T 6.0 6.9 6.6 13.2 08| 10.00 24.000
2 |&HE HE (oA FEE|ARRAY #INSVARULSST| 61| 67| 6.9 134 03| 990 23.600
3 [EH FER |Los vaen INPOFRLT.C 3.6 44 3.8 1.6 0.1 5.90 13.600

INEE S A T MEEH

[[=Fiva K 4% SYHE Bl E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 [/h# E££E  |2@EeL A0 INPOFALT.C 1.0 1.6 1.6 15.2 0.7 | 10.00 | 8.765 34.665
2 185K BE |9 nven [ARRAY #IINSURYLH5T 6.1 6.9 7.0 13.8 0.3 9.25| 8.745 32.095
3 |13k B |ves vedS3 [AIRRAY #MIINSURYLH5T 6.2 6.9 6.6 13.2 0.6 9.70 | 8.545 32.045

INFE2F A % FIRER

[I=Fiva K £ SYHVER o227 E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 (BB &5 |ELse w3e(f>FrIURYLH5T 6.3 6.5 6.5 13.0 1.5 990 | 8490 32.890
2 |5E EH |CH FKE|ARRAY #IINSZRYLH5T 6.3 1.6 1.0 14.0 0.9 990 | 8.085 32.885
3 |IHIE EE  [£57h 5 |ARRAY #IINSVRYLH5T 5.9 6.7 6.0 12.0 0.7 990 | 8.725 31.325
4 |## BB |ooEowEs |ARRAY BINSLKRULSST| 6.3 6.9 6.5 130| 05| 9.90| 7.345 30.745
5 [BE BZXE LA Z5|ARRAY BIINYERILHFT 5.9 6.8 6.6 13.2 05| 10.00( 6.530 30.230
6 [F#E RE |v&> FaAtL|ARRAY #IINSUHRYLS5T 5.2 6.3 6.0 12.0 0.8 9.00 | 6.790 28.590
7 |iEK BE [LaF T5F[ARRAY #MINSVKRULH5T| 5O 5.8 5.6 11.2 05| 800| 5930 25.630

INEIFE % FEEH

[I=Fiva K £ SYHVER o> E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 RIR X |pres Lok[ERMNURYVISTTR)| 7.4 8.1 8.8 16.2 1.1 9.60| 11.350 38.250
2 |5 H BREE |v#z ussen [ARRAY #MIINSURYLH5T 6.4 6.9 7.3 13.8 1.4 980 | 8.865 33.865
3 (AT B8 |wvz w37 |ARRAY #MIINSLRYLH5T 6.4 6.6 6.6 13.2 1.7 9.80 | 9.120 33.820
4 185K BRE |v7F sus [ftoFrSURYLH5T 6.0 6.8 6.1 12.2 0.7 990 | 8.110 30.910




INSEASE A T8 BASA

[I=Fiva K £ SYHVER o> E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 |lUTF MF [e#Lr 53~ INPOFRLT.C 6.6 7.0 6.9 13.8 0.6 990 | 9.715 34.015
2 B B |[F9E FALA|FEISCBYLSANS UKL 55T 6.9 7.1 6.8 13.8 1.1 9.70 | 9.335 33.935
3 |#EHE # FTE WDE[ICBYEIANSLRY L H5T 6.8 6.9 7.3 13.8 1.1 10.00| 9.015 33.915
4 |BE B [LAIE B4|ARRAY BIINSLRYLS5T 6.7 6.9 6.7 13.4 11| 10.00| 9.180 33.680
5 [EH# BK |20 FuE|ARRAY BIINYHRYLSFT) 6.6 7.0 6.9 13.8 06| 980 8.240 32.440
6 [HE K |CH PFEEL|ARRAY #BIINSURYLH5T 6.4 6.7 6.7 13.4 1.2 980 | 7.955 32.355
7 [#BE B4 |LAE Lo |ARRAY #IINSVARULS5T | 6.0 6.9 6.5 13.0 1.3 9.60| 8230 32.130
8 |IEFF BEAN [LFzo &Ho&|fith>FrSRYLHST 6.2 6.6 6.1 12.4 0.7 | 10.00 [ 7.750 30.850

INEESAE T8 BASEH

[[=Fiva K 4% SYHE FEy>7 E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 |2H K |&&2 hAE[ARRAY #IINSURYLH5T 6.5 6.8 6.2 13.0 1.1 9.00 | 9.368 32.468
2 |BE EE |Lsbb E5L[ARRAY BUIMSVKULSST|| 5.9 6.7 6.4 12.8 10 920 9.144 32.144

INSEGAE A T8 BASA

[[=Fiva K £ SYHVEE Mo >7 E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 |IAII Eff [0z #=2&L |ARRAY #MINSHRYLH5T 6.1 6.8 6.6 13.2 1.5 9.50 | 9.445 33.645
2 |8l EH |wesb vsseINPOP ALT.C 1.4 1.5 1.4 2.8 0.2 200 | 1.875 6.875

chs i T8 FAYA

[I=Fiva K £ SYHVER Mo 27 E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 | KE FE |[s81F L&S5E|ARRAY #MINUHRYLH5T 6.8 7.0 7.0 14.0 1.6 9.60 | 10.770 35.970
2 |2 flisk [££7 Lwak|ARRAY #INSDR)LH5T 6.7 6.7 6.7 13.4 1.7 9.60 | 10.835 35.535
3 [iE& #/iK |prus noi|NPOFRLT.C 6.5 6.9 6.6 13.2 0.7 9.70 | 9.380 32.980
4 |EH E |=F 330 [ARRAY #INSUKRYLHST 6.2 6.6 6.5 13.0 0.5 1.00 ([ 8.630| -2.0 21.130




=ERE TE: FAYA
[I=Fiva K £ SYHVEE Mo >7 E1 E2 E3 E-scr | D-scr H-scr T-scr Pen Score
1 (58 &M |LiEk v EREZE R EREEER 1.4 1.7 8.0 15.4 0.8 9.90 | 11.990 38.090
2 [/hith /E  |c0F LSS |ERMEREEPEREEER 6.9 6.9 6.5 13.8 1.9 9.70 | 12.385 37.785
3 |=EH ME |#o0 SBLAERBEERERSEER 1.5 1.6 1.7 15.2 0.8 9.70 | 11.800 37.500
4 \=# # #HID MV |EREBEZEPERSFIR 6.5 1.2 6.9 13.8 0.8 9.70 | 12.810 37.110
5 |BIl FH |serb Lest|ERMEZEREREEIR 6.1 7.0 7.0 14.0 0.8 9.80 | 12.295 36.895
6 MR KX |ssws var [EMEFEFEREEFR 6.9 7.3 1.5 14.6 0.8 9.90 | 11.005 36.305
7 |BE 1ZX |Ls CAL|BRRXKBPESFEER 6.7 1.2 14 14.4 0.5 9.70 | 11.645 36.245
8 |#iK ¥R |F7E LA ERNBEERERESEER 6.4 7.1 7.1 14.2 0.5 9.70 | 11.560 35.960
0 |#8A &I |s<r w5 |[BHAXRTBEER 63| 69| 70 138 | 05| 9.90| 11.400 35.600
10 |F0E 18X |Df2 537 |EREFERERBEFR 6.6 6.7 6.9 13.4 0.4 9.80 | 11.440 35.040
11 |ET It |soelr a9 [EREREDERESEER 2.1 2.1 2.1 4.2 0.3 280 | 4.400 11.700




